國立嘉義大學九十八學年度
光電暨固態電子研究所碩士班招生考試試題
科目：工程數學
PART A. Multiple choice questions: (單一選擇題，答錯不倒扣，1題5分，共25分)

1. The symbol “ † ” denotes the Hermitian conjugate of any square matrix (i.e., the transpose of complex conjugate of a matrix). Find the WRONG statement: 
(a) if 
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 is Hermitian;    (b) if 
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 is anti-Hermitian;
(c) 
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2. If 
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 (b) 
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(c) 
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3. The Dirac (-function has the property that 
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, find the CORRECT statement: 
(a) 
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4. The Laplace transform is defined by 
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. Find the CORRECT statement: (a) 
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5. Find the CORRECT statement: 

(a) 
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(c)  if 
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PART B. Essay problems: Answer the following problems in detail (計算題，1題15分，共75分)

6. Given that 
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find the general solution by using the Method of Variation of Parameter.

7. Please find the Laplace transform of 
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8. Find the 3rd Legendre polynomial by Rodrigues Formula 
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9. Find the normalized eigenvectors 
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10. Given 
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 is the transpose of  the complex conjugate of  
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